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State two ways in which herbaceous plants obtain their mechanical support. (2 marks)

(@) Name the proteinous substance that makes up the exoskeleton of members of Phylum
Arthropoda. (1 mark)

(b)  State two functions of the exoskeleton. (2 marks)
(¢c)  State one disadvantage of the exoskeleton to members of Phylum Arthropoda. (1 mark)
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The diagram below represents the anterior view ol a mammahan vert

Neural L

canal
(a) (1) ldentify the vertebra. (1 mark

(1) Name the region of the vertebral column where the vertebra was obtained from
(1 mark)

(¢)  Name the bone in the mammalian endoskeleton that articulates with the verichra a1 the
part labelled L. (1 mark
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(a)  Name process K

D State the ; .
(b)  State the importance of substance J in the living cells.

> setup below was used to demonstrate products of exhalation in grasshoppers. The setup

Ll

w1 left undisturbed for 48 hours and observations made.

Test tube

Lime water

Clear bell jar
Grasshoppers

(1 mark)

(a) (1) State the observation made in the test tube.

(iiy  Account for the observation made in 8(a) (1).
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12.  Complete the table :I;ijé;l'ow, outlining the differences between members of Clasg Diplop
Chilopoda based on the characteristics given.

Diplopoda

A




(a) Sta

Name the Structyre

Which €nables Paramecium 1o move.

(1 MAark

)

1€ diagram belgw répresents an apparatus used to collect specimens for study.

(1 mark)
a) Identify the apparatus.
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N s the . . N > nierine wall di
. l\.nnk the hormone that stimulates the contraction of muscles of the uterine &
Dirth,
lo. . . : e
' Giving an example in each case, state the difference between internal and exierna|
fertilisation. (2 marks
(b)  State the agent of pollination in a maize plant. (1 mark|
g

17.  Identify the response and receptor from the following list of sensory structures and processes.

« salivary gland

» smell of fried eggs
« olfactory cells

s salivation.

(a) Response (1 mark)
ib) Receptor (1 mark)
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(@)  Explai the : . L . . :
N p f]'” why the population of people with sickle-cell anacmia is higher in malaria-pronc
reas. (2 marks)
. w
(b)  Explain why it is not advisable to put a patient on a drip of distilled water for -
rehydration. (3 marks)
L S a Fducation, 2021
Kema C ertificaie of Secondar) Ll Turn over
vy 231/1



10

ee and @ thin.

Yie
24,

{a) In-an experiment. the stem of a plant was cut above the soil surl
transparent wbe inserted immediately as shown below.,
anillary tube
Capillary W
~. Capillary wbe a ,l/
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i _ Water
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Start of experime " . :
experiment End of experiment
(a) Name fhe e . . ) . ’ arl
Name the process by which mineral salts are absorbed from the soil. (1 mark)
(b) Ace . . . )
Account for the observation made at the end of the experiment. (3 marks)
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Live termites
d) | i S |l . - P -
( () State the likely observation at the end of the experiment. (1 mark)
() Explain two factors responsible for the observation in 21(a) (i). (2 marks)
State one function of each of the following parts of the mammalian movable joints:
(1) Synovial membrane (2 marks)
(i)  Ligaments (1 mark)
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The illustration below represents a plant learners collected and drew durin
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With a reason, state the Division and Class to which the plant belongs:

(1) DIVISION: cooererreeeeeumssssmmssssssssss oo g
REASOM: crrvereeeeseseesesseeseeessseeas e e
(1) CJASS: oovoesessesseessss st s R A
RIBASON: ...oeoveevsssesessesssecsssinben s b e b !
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